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0O -0005

Y11 010401403

(4t

2t

.. 2m

SG1E000B8002

0O -0006

#0041

.. 2m

FOO0O0000025

Y110104023

Y11 01040240 2




0-0024

SG1D00B86004

200 mm
6 0O -0028
FOO0O0000OO0O11
200 T-8A
5
CVR FOO0O0000O0O0Y9
200
5
Y11 0104033
1
( Y11 010403402
6
SG1D00B60O0002
6 0O -0040
Y11 0106 2
1
Y11 0106013
1

00

Y11 010601401




0-0025

SPK190080309

15cm
200 0 -0030
Y11 01060 140 2
144
SPK19080308
15cm
144 0 -0031
Y11 010601405
6
SPK190080148
( :
DI D 10. 5km (6. 0km )
6 0 -0032
#0041
1
FOO0O0000026
As
13
Y11 01060 33
1
( ) Y11 01060340 2

55




0-0026

( ) SPK190@80234
100mm 1
RC-30
55 0O -0033
( ) Y11 01060340 4
37
( ) SPK190080236
RM- 30
120mm 1
37 0O -0034
( ) Y11 01060 340 8
20 t=5cm
6 6
( ) SPK190080243
1.4m 3.0m
1 50mm
51 0O -0035
( ) SPK190080243
1.4m (1 50mm
1 50mm
15 0O -0036
( ) Y11 0106034009
13 t=3cm
24
( ) SPK190080246
1.4m (1 50mm
1 30mm
24 0O -0037

Y11 0106043




0-0027

Y11 010604408

55
( ) SPK19080243
1.4m (1 50mm
1 30mm
55 0O -0038
Y11 0106 2
1
Y11 0106013
1
Y11 010601401
1
B R0O369 00
18
#0020 = ( ),
Z0004
YZZ204 2




0-0028

YZZ04001 3

1
YZZ04001040 4
18.
( , H S1000000@
2. 4km
12m
1 0O -0041
( , H S1000000@
2. 4km
12m
1 0O -0044
Z0006
YZZ06 2
1
YZZ06001 3
1
YZZ060010410
30.
voooO1 0O
15. 0O -0047




0-0029

15.

vo0oo0o1

00

0

-0047

Z0019




0-0030




0-0031

( ) SG1D0001002 0O -0001
m3
1.9
5.0
-01_ 0-0002
113 _ 2 11.1
0.28m3( 0. 2m3)
1
1m3 ( /7100m3)
1 m3
A=1 0. 28m3




0-0032

SM0102020 0O -0002
0. 28m3( 0. 2m3) 1
0.16
6.30 L
1.00
2 m3
1
1
A=3 113 _ 2 B=1 0. 28m3( 0. 2m3)
C=0 ( ) D=0 (L/ )
E=0




0-0033

( ) SG1D0002003 0O -0003
1 m3
2.5
3.8
-01_ 0-0002
113 _ 2 7. 6
0.28m3( 0. 2m3)
0-00014
100 m3
1
1m3 ( /7100m3)
1 m3

A=1 0. 28m3 C=6




SPK19040020 0 -0004
97.12% : 1.43% : 0.00%
( ) ( ) (
1.45% 60 80kg
51.92%
45.20%

1.43%

e




0-0035

( ) SG1D0002003 0O -0005
m3
2.5
3.8
126. 00 M3
-01_ 0-0002
113 _ 2 7. 6
0.28m3( 0. 2m3)
0-00014
100 m3
1
1m3 ( /7100m3)
1 m3
A=1 0. 28m3 cC=2
E=126 (m3/100m3)




0-0036

(4t , 2t , )SG1E0003002 0 -0006

1 m3
0-0007

011 _ 0.80

4t

1m3

1 m3

A=2 0. 28m3 B=1 4t

C=2 [ 1DID D=17 9.0

E=1 :




0-0037

SM2203010 0 -0007
011 4t 1
( )
1.00
, 2 4KL 34.00 L
1.209
4t
( ) 1.209
1
1
A=1 011 _ B=2 4t
c=1 ( ) D=34 (L/ )
E=1.209 ( I ) F=1




0-0038

SG1D0006001 0O -000S8
200 mm m
200 mm 1 m
1 m
A=2 200 mm B=1 [ 120m
C=1 D=1 -




v0o00oO0S8

0

-00009

100

0-0039

150x50

2

100

100




0-0040

SG1D0019002 0 -0010
1 m3
1. 26 M3
1 m3
1 m3

mo >
nonon
N

o

R RN

CODE ( m3)
[ 110m3

~~

3

w

3

w

S~—
mo W
nnu
PR R




0-0041

( SG1D0033001 0 -0011
m
2.0
2.0
6.0
-01_ 0-0002
113 _ 2 11. 6
0.28m3( 0.2m3)
1
1m ( /7100m)
1 m
A=3 0.28m3 B=2 0 m




0-0042

( SG1D0033001 0 -0012
m
2. 4
2. 4
7.2
-01_ 0-0002
113 _ 2 12.5
0.28m3( 0.2m3)
1
1m ( /7100m)
1 m
A=3 0.28m3 B=3 5m




0-0043

( SG1D0033001 0 -0013
m
2.8
2.8
8. 4
-01_ 0-0002
113 _ 2 13. 4
0.28m3( 0.2m3)
1
1m ( /7100m)
1 m
A=3 0.28m3 B=14 0 m




0-00414

( SG1D0033002 0 -00114
m

0.9
0.9
2.7

< > ( )

4.9t 1.0
1

1m ( /7100m)
1 m

A=1 TC4. 9t B=2 0 m




0-0045

( SG1D0033002 0 -0015
m

0.9
0.9
2.7

< > ( )

4.9t 1.0
1

1m ( /7100m)
1 m

A=1 TC4. 9t B=3 5m




0-0046

( SG1D0033002 0 -0016
m

1.0
1.0
3.0

< > ( )

4.9t 1.1

1

1m ( /7100m)
1 m

TC4.

9t




0-0047

( ) SG1D0033008 0 -0017
1 m
0.6
0.6
1. 8
1

1m ( /7100m)

=Y
3

IO>»
nnu
R R R
oW
nnu
PR R




0-0048

( ) SG1D0033008 0O -0018
1 m
1.2
1.2
3.6
1

1m ( /7100m)

=Y
3

IO>»
nnn
R R R
[l w vy
nnn
PERN




0-0049

( ) ( 0 ) SG1D0052001 0 -0019
1
40 O0Omm 0. 1683
0-0020
18-8-40BB 0.12m3
( 1:2)( ) 0-0021
0. 55m2
1
A=2 RC-40 C=0.7 ( m2)
D=0. 2 ( m) E=1 -
H=3 | =2 18-8-40BB
L=1 N=2
P=1 - Q=2
R=0.55 (m2) S=1




SPK19040150 0 -0020
18-8-40BB 1 m3
0. 00% : 29.56% : 70.44% : 0.00% 21,
( ) ( ) ( ) ( )
RTPCO0O0OGQO
12.43% RTPTO0O0OGQ
RTPCO0O0OGQO
8.67% RTPTO0O0OGQ
RTPCO0O0OGQO
6. 53% RTPTO0O0OGQ
C ) C ) EROOO
TTPCDOO1
18, 8, 40 70. 44 % 24-12-25(20) W C 55% TTPTO0O034
wirc(eo ), ( )
E9999
A=1 B=3
cC=2 18-8-40B8B F=1
H=2 J=1 -
K=1

e




0-0051

2) ( ) SG1E0044003 0 -0021
m2

0. 33

0. 33

0-0022

0. 02Mm3

1

1 mQ2

o>

NN




o>
i

[N Y

SPK19040151 0O -0022

1: 2 1 m3

0. 00% : 61. 10% : 38. 90% : 0.00% 42,987
( ) ( ) ( ) ( )

RTPCO0O00(Q2
61. 10% RTPT000(d2
B TTPC00043
29. 14% 25kg TTPT00043
TTPC0O00OO046
9. 76% ( ) TTPT00046

EPOO1

B=2 1: 2




0-0053

0 SG1D0052002 0 -0023
( 750mm) ,
0 ( 750 mm) 1
2m
1
1
750 mm) , 2 [ 14

O >
nou

[N Y

O ®
non
e




0-0054

0 SG1D0052002 0 -0024
( 750mm) . 3
0 ( 750 mm)
2m 3m
750mm) , B=2 ] 4

o>

=N




0-0055

( ) ( 1 ) SG1D0053001 0 -0025
1
40 O0Omm 0. 2283
0-0020
18-8-40BB 0. 18m3
( 1:2)( ) 0-0021
0. 84Mmp2
1
A=1 C-40 C=0.95 ( m2)
D=0. 2 ( m) E=1 -
H= 3 | =2 18-8-40BB
L=1 N=2
P=1 - Q=2
R=0. 84 (m2) S=1




0-0056

1 SG1D0053002 0 -0026
( 900mm)
1 ( 900 mm) 1
3m
1
1
900 mm) 3 [ 14

O >
nou

[N Y

O ®
non
e




SG1D0051002

0

-0027

0-0057

0.17
0.17
0.17
1
1




0-0058

SG1D0088004 0O -0028
200 mm
(
( 200) 1
1
1
A=2 200 mm B=1 [ 15
CcC=1 D=1 -




0-0059

SG1D0089002 0 -0029
1
150 1
1
1
A=3 B=1 [ 15
c=1 - D=1 -
E=1 - F=1 -




SPK19040309 0O -0030
15cm 1 m
6. 42 % 53.37% : 40.21% 0. 00% 547
( ) ( ) ) (
MTPCO0O0O0H6
4., 34 % MTPTO0O00H4H6
20cm 56cm 20cm 56cm

( ) ( ) EKOOO9
RTPC000Q1
18. 48% RTPT000Q1
RTPCO0O00Q9
9. 59% RTPT000Q9
RTPCO0O0O0Q2
8. 00% RTPT000Q2

( ) ( ) EROO0O9
TTPCOOO115
37.36% TTPTO0O0O0115

56cm(22 ) 56cm(22 )

, TTPCOO0OO014
, 1.93% TTPTO00014

( ) ( ) EZ0O09




0-0061
SPK190403009 0 -0030
15cm 1 m
6. 42% : 53.37% : 40.21% : 0.00% 547

( ) ( ) ( ) ( )

EPOO1

m >
i

[N Y

B=1 15cm




mo >
R R R

SPK19040308 0
15cm
81.87% : 8. 03% 0.00%
( )
10. 10% [ ) 1]
0.45m3( 35m3)
29.50%
( )
27 . 77%
24. 60%
1.2
8. 03%
= B=1
= D=1 15cm




SPK19040148 -0032
( DI D 10.5km (6. 0km ) 1 m3
48.90% 36. 46% : 14.64% : 0.00% 3,16
( ( ) ( )

[ ] MTPCO0O0O1
10t 48. 90% 10t MTPTO0OO1
( ( ( ( ) )

( ) ( RTPCO0O0OGQ(
36. 46 % RTPTO0O0OGQ(
1.2 TTPCO0OO 1
, 2 4KL 14. 64% TTPTO0O0O 1
EPOO1
A=2 B=4 ( 15cm )
C=2 DI D=36 10. 5km (6.0km )
E=1

N~



( ) SPK190402314 0O -0033
100mm 1 RC-30 1 m?2
: 5.37% 15. 00% 79. 63 % 0. 00% 1,052
( ) ( ) (
MTPCO0O01S3
2 2.17% 2 MTPTO0O01S3
3.1m 3.1m
MTPCO0O01S3
2 1.68% 2 MTPTO0O01S3
10t 2.1m 10t 2. 1m
KTPCO0O0OOO
20t 0.55% KTPTO0O0OUQO
( 1, 2 8 20t

) ( ) EKOOO9
) ( ) RTPCO0O0OOO
6. 89% RTPTO0O0OQO
RTPCO0O0OOO
2.42% RTPTO0O0OQO
RTPCO0O0OOO
2.30% RTPTO0O0OQO
RTPCO0O0OOO
0. 69% RTPTO0O0OQO

) ( ) EROO0O9




( ) SPK19040234 0 -0033
100mm 1 RC-30 1 m2
: 5.37% 15. 00% 79.63% 0. 00% 1,052
( ) ) ) (
TTPCDO0OO18
30 Omm 78. 28% 40 O0Omm TTPT00346
[ ] 150mm
1.2 TTPCO0O0O013
, 2 4KL 1.11% TTPT00013
( ) ( ) EZ0O09
E9999
A=100 ( mm) B=3 RC- 30
D=1
(mm)/ 1000* ( 1)
(mm) :100.000( mm)




) SPK19040236 0O -0034
RM- 30 120mm 1 1 m?2
10. 59% 29. 59% : 590. 82% 0. 00%
( ( ) ( ) (
MTPCO0O01S3
2 4., 28% 2 MTPTO0O01S3
3.1m 3.1m
MTPCO0O0135
2 3.32% 2 MTPTO0O01S3
10t 2.1m 10t 2. 1m
< > KTPCO0O0O0OOO
8 20t 1.08% KTPTO0O0OUQO
( 1, 2 8 20t

( ) ( ) EKOOO9
( ) ( ) RTPCO0O0OOO
13.58% RTPTO0O0OQO
RTPCO0O0OOO
4., 78% RTPTO0O0OQO
RTPCO0O0OOO
4., 54 % RTPTO0O0OQO
RTPCO0O0OOO
1.36% RTPTO0O0OQO

( ) ( ) EROO0O9




( ) SPK19040236 0O -0034
RM- 30 120mm 1 1 m2
10. 59% 29.59% : 59.82% 0. 00% 533
( ) ( ) ) (
TTPCOOO1O0
30 Omm 57.14% RM- 40 TTPT003§7
[ 150mm
1.2 TTPCO0O0O013
, 2 4KL 2.20% TTPT00013
( ) ( EZ0O09
E9999
A=5 RM- 30 E=120 ( mm)
H=1 - ( )
(mm)/ 1000* ( 1)
(mm) :120.000( mm)




( ) SPK19040243 0O -0035
1.4m 3.0m 1 50mm 1 m?2
: 80 % 13.37% : 84. 83 % 0.00% 1,634
( ( ) ( ) (
< > KTPC0O000§9
1.20% ] KTPT000§9
1.4 3.0m 1.4 3.0m
< > ( ) KTPC000Qd9
3 4t 0.25% ] KTPT000(d9
1, 2 3 4t
< > KTPC00O0§7
3 4t 0.22% 3 4t KTPT000§7
1, 2

( ) ( ) EKOOO9
RTPCO0O00(Q2
4. 75% RTPT000(d2
RTPC000(Q1
3.27% RTPT000(d1
( ) ( ) RTPCO000(6
3.22% RTPT000(Q6
RTPCO0O00Q9
1.14% RTPT000Qd9

( ) ( ) EROO0O9




( ) SPK19040243 0 -0035
1.4m 3.0m 1 50mm 1 m?2
: 1.80% : 13. 37% : 84. 83 % 0. 00% 1,634
( ) ( ) ) (
As (20) TTPCDOO38
(20) 77. 18% [ ] 50 mm TTPT00284
(J1 SK2208) (J1 SK2208) TTPCOO0OO026
( ) 6. 82% ( TTPT00026
PK- 3 PK- 3
1.2 TTPCOOO113
, 2 4KL 0.22% TTPTO00O0113
( ) ( ) EZ0O09
E9999
A=3 1.4m 3.0m B=50 1 ( mm)
C=6 (20) E=2 PK- 3
G=1 - H=1 -
Il =1 - ( )
1 (mm)/ 12000* ( ( )+ )
1 (mm) :50.000(mm)




( ) SPK19040243 0O -0036

1.4m (1 50mm 1 50mm 1 m2

: 0.51% 42. 49% : 57.00% 0.00% 2,433
( ) ( ) ) (
( ) MTPCO00047
0.30% MTPTO00047
0.5 0.6t
MTPCO00O049
0.14% MTPTO00049
40 60kg

( ) ( EKOO9
RTPC0O0O0Q1
19.07% RTPT000Q1
RTPC0O0O0O0Q2
13.28% RTPT000Q2
RTPC00O0Q9
3.97% RTPT000Q9

( ) ( EROO09
As TTPCDOOJ38
(20) 52.25% [ 50mm TTPT00244
(J1 SK2208) (J1 SK2208) TTPCOOOZ6
( ) 4. 58% ) TTPT0O0026

PK- 3 PK- 3




SPK19040243 0O -0036
(1 50mm 1 50mm 1 m2
0.51% : 42. 49% : 57.00% : 0.00% 2,433
( ) ( ) ( ) ( )
TTPCO0OO14
0.12% TTPTO0O0O014
1.2 TTPCOOO 13
2 4KL 0. 03% TTPTO0O0O 13
( ) EZ009
E9999
A=1 1.4m (1 50mm ) B=50 1 ( mm)
C=6 (20) E=2 PK- 3
G=1 - H=1 -
I =1 - ( )
(mm)/1000*( ( )+ )
(mm) :50.000(mm)




) SPK19040246 0 -0037
.4m (1 50mm 1 30mm
: 0.51% : 46. 11% : 53.38% : 0.00%
( ) ( ) ( ) (
( ) ( )
0. 35%
0.5 0.6t 0.5 0.6t
0. 08%
40 60kg 40 60kg
) ( )
18.18%
15.83%
4. 74%
) ( )
As (13)
(13) 47.79% [ ] 40mm
(J1 SK2208) (J1 SK2208)
( ) 5.46% ( )
PK- 3

o




SPK19040246 0 -0037
(1 50mm 1 30mm 1 m2
0.51% : 46. 11% : 53.38% : 0.00% 2,041
( ) ( ) ( ) ( )
TTPCO0OO14
0.07% TTPTO0O0O014
1.2 TTPCOOO 13
, 2 4KL 0.04% TTPTO0O0O 13
( ) EZO0O09
E9999
A=1 1.4m (1 50mm ) B=30 1 ( mm)
cC=10 (13) E=2 PK- 3
G=1 - H=1 -
I =1
(mm) /1000 * ( ( )+ )
(mm) : 30.000(mm)




) SPK19040243 0O -0038
.4m (1 50mm 1 30mm
: 0.51% : 42. 49% : 57.00% : 0.00%
( ) ( ) ( ) (
( ) ( )
0.30%
0.5 0.6t 0.5 0.6t
0.14%
40 60kg 40 60kg
) ( )
19.07%
13.28%
3.97%
) ( )
As (20)
(13) 52.25% [ ] 50mm
(J1 SK2208) (J1 SK2208)
( ) 4. 58% ( )
PK- 3

o




SPK19040243 0O -0038
(1 50mm 1 30mm 1 m2
0.51% : 42. 49% : 57.00% : 0.00% 2,433
( ) ( ) ( ) ( )
TTPCO0OO14
0.12% TTPTO0O0O014
1.2 TTPCOOO 13
2 4KL 0. 03% TTPTO0O0O 13
( ) EZ009
E9999
A=1 1.4m (1 50mm ) B=30 1 ( mm)
C=7 (13) E=2 PK- 3
G=1 - H=1 -
I =1 - ( )
(mm)/1000*( ( )+ )
(mm) : 30.000(mm)




0-0076

SG1D0006001 0O -0039
150mm m
150mm 1 m
1 m
A=1 150mm B=1 [ 120m
C=1 D=1 -




0-0077

SG1D0089002 0 -0040
1
150 1

1

1
A=3 B=2 [ 15
D=1 - E=1 -
F=1




0-0078

, H , ) S1000007 0 -0041
.4k m 12 m 1
0-0042
. 4km 1.000
18. 1t
0-0043
1.000
1
A=2. 4 ( km) B =1 12m
C=1 - D=1 -
E=18.1 (t) F=1 .
H=1 - J=1 -
L=1




0-0079

S1000009 0O -0042
2. 4km 12m 18. 1t 1
1.000
18. 100t
1
A=1 B=2. 4 ( km)
cC=1 12m D=18.1 (t)




S10000009

0

-0043

0-0080

18.100

18.100

18.100

18.100
1

>
nou

= a1

18.

(t




0-0081

, H , ) S1000007 0 -0044
.4k m 12 m 1
0-0045
. 4km 1.000
0.8t
0-0046
1.000
1
A=2. 4 ( km) B =1 12m
C=1 - D=1 -
E=0. 8 (t) F=1 .
H=1 - Jd=1 -
L=1




0-0082

S1000009 0O -0045
2. 4km 12m 0.8t 1
1.000
0.800t
1
A=1 B=2. 4 ( km)
cC=1 12m D=0. 8 (t)




S10000009

0

-0046

0-0083

0.800
0.800
0.800
0.800
1

>
nou

= a1

(t




0-0084

vooo1 0 -0047

1 m

0-0048
1 m

0-0050
1 m

0-0053
1 m




0-0085
v0o00O02 0O -0048
400 m

0-0049

400 m




0-0086

2 V0O0O3 0 -00409
1
' , 36.6 L
( )
1
95. 5kw 2t 6




0-0087

v00O04 0O -0050
700 m

1
1

0-0051
1

4t 0-0052
1
700




0-0088

4 V0005 0 -0051
: 34.
¢ )
1
147kw 4t 6




0-0089

4t V0006 0 -0052
: 39
¢ )
1
132kw 4t 6




0-0090
vooov7 0 -0053
8§00 m

800 m




TITELZ: ZEFRLESKRFEKEFREZTIE (2—1 IK)

A B C s
I% E2¥ 1) K - <TA 4960-1 4965 4966 &5 BHfr ”Q%
4960-3 b,c,c’ 4970-2
ERIER ¢ 200 5480 154.20 119.30 328300 m 328.3
BERER " 51.30 149.90 114.30 31550 m 3155
EFRTT HEH| 114.88 336.10 146.90 597.88 m3 600.0
HBE (B£1) 81.11 246.01 87.35 41447 m3 410.0
HR (REL) m3
HE (B&®) 14.31 41.83 24.31 80.45 m3 80.0
HLEH - sy 24.76 62.76 49.84 137.36 m3 140.0
i a EEEEEMEZT 51.30 149.90 114.30 31550 m 315.5
BEERRV—NT 51.30 149.90 114.30 31550 m 3155
YUR-IVETRI & ST ¢ 200 8.00 10.00 12.00 30.00 & 30.0
EEBT ERE (10cm) [=315.5m 5.14 15.00 8.75 28.89 m3 29.0
ERTET BEMAHREAT @A) L=2.0m 47.30 4730 m 47.3
BEMAm31IET (mAED) |~ 47.30 4730 m 47.3
BEMAREAT @E49) L=25m 34.80 88.60 12340 m 1234
BEMAm31ET (mED) 34.80 88.60 12340 m 1234
BEMRREAT (@A) L=3.0m 20.00 65.60 856.60 m 85.6
BEMAm31IET (mAED) |~ 20.00 65.60 856.60 m 85.6
BEMRREN 18 1.00 = 1.0
XHRIT TEXRT 21.80 36.00 47.30 105.100 m 1056.1
2R T 33.00 118.20 151200 m 151.2
XHEMEN 7ILZHE 1.00 = 1.0




TITELZ: ZEFRLESKRFEKEFREZTIE (2—1 IK)

A B C
I% E2¥ 1) K - <TA 4960-1 4965 4966 &5 BHfr ”Q%
4960-3 b,c,c’ 4970-2

0B YUR-VI 85Z& T-14 1.00 1.00 # 1.0
#%E T-25 2.00 400 6.00 #8 6.0
ERRFHIEEE 1.00 1.00 # 1.0
BRI AEEE 1.00 2.00 4.00 700 #A 7.0
HEUTHEENLAIN 1.50 2.50 6.00 10.00 £& 10.0
#8 (30cm) 1.00 1.00 200 1@ 2.0
#BE (45cm) 1.00 1.00 200 1@ 2.0
EHELAHEE (60cm) 3.00 3.00 1@ 3.0
EELAHEE (90cm) 1.00 1.00| 1& 1.0
EEATEE (120cm) 1.00 1.00| 1& 1.0
EEATEE (150cm) 1.00 1.00| 1& 1.0
EELAHEE (180cm) 1.00 1.00| 1& 1.0
EhR 1.00 2.00 400 7.00 & 7.0
FEEYVY™ (10cm) 1.00 1.00| 1& 1.0
FEYVY (15em) 1.00 1.00 4.00 6.00 1@ 6.0
HIF, (100mm) &R
HIF, (150mm) AT
HIF, (200mm) 1.00 2.00 4.00 7.00 &FF 7.0
EFT 1.00 2.00 4.00 7.00 &FF 7.0
FAIT 0B~ UR- VBT 2.0mLLT 2.00 4.00 6.00 & 6.0
FAIT 0B~ UR- VBT 2.0mE~3.0mLLF 1.00 1.00 H#pr 1.0
0B Y UR- R 3.0mEB~5.0mLLF =R

A 1BYUR-VI 85Z& T-14 3.00 3.00 #A 3.0
#%E T-25 3.00 2.00 500 #A 5.0
ERRFHILEE 2.00 2.00 400 #H 40
BRI RAESR 3.00 3.00 2.00 8.00 #A 8.0




ITEL:  ZRAMESREKERHRTIE 22— 1 IK)

A B C .
I EZE 0 R - TE 4960-1 4965 4966 B BEfI '&%
4960-3 b,c,c’ 4970-2

VBT 2.50 2.50 2.00 700 £ 7.0
A& (30cm) 3.00 1.00 2.00 6.00 & 6.0
FEE (45cm) 2.00 2.00 & 2.0
EEAHBE (90cm) 1@
EEUTEE (120cm) 1.00 1.00 {& 1.0
EEATEE (150cm) 1.00 1.00 2.00 400 & 40
EEUTEE (180cm) 2.00 1.00 3.00 & 3.0
EhR 3.00 3.00 2.00 8.00 & 8.0
FEEYVY” (10cm) 2.00 1.00 3.00 1@ 3.0
FEYVYT (15em) 1.00 2.00 2.00 500 1@ 50
HIF, (100mm) HAr
HIF, (150mm) 2.00 1.00 3.00 &FF 3.0
HIA, (200mm) 3.00 7.00 1.00 11.00 &FF 11.0
EFT 3.00 3.00 2.00 8.00 & FF 8.0
L1 SYUR-IL 3.0mLLF 3.00 3.00 2.00 8.00 & FFT 8.0
HIL1BIUk-IL 3.0m#B~4.0mlT =R

AERET (AT NEIEREL ¢ 150 (1.0m>h) 2.00 2.00 400 BHAT 40

EIR HNEIE#ME (RYLE47) 200X ¢ 150 2.00 2.00 400 1& 40
BRO GERBHIEFE) 6200/ 2.00 2.00 400 & 40
BIERA- ¢ 150 2.00 2.00 400 & 40
TL-VINEE ¢ 150 0.65 0.63 128 m 1.3
BIERIOE/E ¢ 150 2.00 2.00 400 & 40
BN N 4.00 400 8.00 {& 8.0
FUh-R b (SUSHL) 8.00 8.00 16.00| 1@ 16.0




TITELZ: ZEFRLESKRFEKEFREZTIE (2—1 IK)

A B C
I% E2¥ 1) K - <TA 4960-1 4965 4966 &5 BHfr ”Q%
4960-3 b,c,c’ 4970-2
BIERET (rEm7) BHEIE(EZLE (VP) 9250 0.41 0.32 073 m 0.7
B AU 2.00 2.00 400 & 40
FUh-R b (SUSHL) 4.00 4.00 8.00| 1@ 8.0
NEFTHRET AHFITHE 3.00 6.00 9.00 &RT 9.0
BERE 2.00 3.00 500 #%& 50
®hE 1.00 3.00 400 #&% 40
RE 1.00 3.00 400 #&% 40
BRAERHZRETY BSERRH 3.0m=* i AT
XERAST BT &R 3.0mEL £ ~5.0mk# 3.00 6.00 9.00 AT 9.0
BT &R 5.0mEL_E~12.0mk# &
HEH 7.40 11.70 19.10 m3 19.0
HBE (B£1) 6.20 8.90 1510 m3 15.0
HE (B&®) 1.10 2.40 3.50 m3 4.0
5 Efk Ao 0.50 1.80 230 m3 2.0
CoErYim L m3
mELLE (150A) m
&% T EEIIlEq 109.60 413.60 487.64 1010.84| m 1010.0
HE R EHER 109.60 210.40 238.60 558.60
HE AR 105.20 196.60 301.80
HE R AR 98.00 98.00
B ERF 11.10 52.44 63.54
BRI 212.70 498.20 316.31 102721 m 1030.0
OB 9.45 15.70 13.41 38.56 m3 39.0




TITELZ: ZEFRLESKRFEKEFREZTIE (2—1 IK)

A B C
I E2¥0 K - <TA 4960-1 4965 4966 BEF  EBEfI ”&g
4960-3 b,c,c’ 4970-2
N5y 22.21 36.90 31.51 9062 t 91.0
TREEEIE m
TRE®EHE (RC-30) t=10cm 59.20 154.20 120.11 33351 m 334.0
HE R EHER 54.80 105.20 110.41 27041 m
HERERER 49.00 49.00 nf
A ERF 440 9.70 1410 m
LEEE (RM-30) t=12cm 59.20 105.20 120.11 28451 m 285.0
HE R EHER 54.80 105.20 110.41 27041 m
B ERF 440 9.70 1410 m
KB (BEZRETZA220) [t=bcm 153.50 221.50 196.20 571200 m 571.0
HE AR 1.4=<b=3.0 153.50 221.50 181.30 556.30) m 556.0
B ERF b<14 14.90 1490 m 15.0
KB (BEMKE7Z2013) [t=3cm 122.50 12250 m 123.0
B A R 14=<Db 122.50 12250 m 123.0
BT ERF b<14 m
&% (BAZRETZIV13) [t=3cm 59.20 154.20 120.11 33351 m 334.0
b<14
RE&T RBFEER A
EMERE hATKRE 51.30 149.90 114.30 315650 m 316.5




o

B

AP

BREFEE . 4960-1 , 4960-3



S S /5 v =
Eiia wHoe % % fi % L A
B R = 200 [mm
HEERER=  —fRITEE 5-10-10 EHIEE = 3.45] m~ [3.45]m
PR FE = [BH 0.28
i PN M LR T
- R B B I P P e e P B T
i =, " = | m= SlE T ETEI | w | B S| R
p ] St Fill Fill BOHRL (MR | = : oMk L=2.0
] . firsiis cm | cmiZ | ZHE | v ‘
% | E 3 - g | o | TET| =25
£ A £ T B | e L=3.0
. 5 BH BH BH BH BH [(SRA)| (PE)
% 2 m m m m m m m” m m” m m” m m 1@
No.2 0.45 0.05 | 1.86
4960-3 | No.16| 7.10] 0.45 6.20 | 0.20 | 1.91 | 1.00 | 13.21 8.83 062 1.73 2| 1=25
No.16 0.45 0.05 | 1.81
4960-3 | No.17| 14.70] 0.45 | 13.80f 0.20 | 1.86 | 1.00 | 26.61 17.55| 1.38] 3.85 2| 1=25
No.17 0.45 0.05 | 2.31
4960-1 | No.18| 20.00| 0.40 | 19.15] 0.20 | 2.36 | 1.00 | 46.20 33.88] 192 5.34 2| 1=3.0
No.18 0.40 0.05 | 2.22
4960-1 | No.19| 13.00] 0.45 | 12.15] 0.20 | 2.27 | 1.00 | 28.86 20.85] 1.22] 3.39 2| 1=25
&8 | 54.80 51.30 114.88 81.11| 5.14| 14.31] 48.00| 3.30| 8.00
JL—rxURNEE = 3.30 m
EFN - RN AN 48.00 +4m/ A= 12 &
AR E | FaEmE g0 EERE 117 1/4 1
I 15° &
I 22° 1/2 1
m |45 H AR e i At
% BRI BH 0.28m3 V= 114.88 114.88
m®[V1=1.00%0.10=0.100
B AR 1 T V2=1.00 X 0.316- 77 /4 X 0.216°2=0.279
m3
]| B T
j: m3 m3
it SV=__ 1149 =114.88
m3
i) BE+ BH 0.28m3 U= 81.11 81.11 m
o’ H 4 B = 0.216
EIE10cmiZb RS = 0.316
% Floem & TH10cmiZ m’| B Floemib mE = 0.100
= Y ELHRE BH 0.28m3 V= 5.14 +14.31 = 19.45 19.45 W mx = 0.416
I
%+ R
11488 — 8111 / 09 = 24.76 24.76




=Ju 15y
B T O L
ERIFEE=| 345| m~ | 3.45|m
PREIHEFE = | BH 0.28
BN A 5 EERGRM BEGAR T (W = 250mm) B CIALMS T T R RLRT
i fL 3]
%7% ﬁfﬁ }E m m m m m
Fs % zg L-2.00 | L-2.50 | L-3.00 | L-3.50 | L-4.00 | L-2.00 | L-2.50 | L-3.00 | 1E% 28% 3%
Z‘ % m m m m m m m m m m m m m
No.2
4960-3 | No.16 | 17.10 1.91 7.10 7.10
No.16
4960-3 | No.17 | 14.70 1.86 14.70 14.70
No.17
4960-1 | No.18 | 20.00 2.36 20.00 20.00
No.18
4960-1 | No.19 | 13.00 2.27 13.00 13.00
; 54.80 34.80 | 20.00 21.80 | 33.00
[ B
LEESfR T = 21.80 m
2B R T = 33.00 m
SEE MR = m




; pax = HE
[ W ] N B il 3 £ H T
(i 1)
EEIEE= 345] m~ | 345 m
AEEAER = — W TIE SR 5-10-10  (fdfizts3-12-10)
B A A 8 8T WA T (AT
i N FfE t= 0.10m
@ ;F:j’g t = 0.05m g t= 0.12m t = 0.03m iz
& E ) )
4 5 L= JI XL m A=Y HIE X 4R m’ A=HIEHIIE X FER m’
m
No. 2
4960-3 | No.16 | 7.10 2X  7.10 14.20 [1.00X  7.10 7.10 [1.00 X 7.10 7.10
No. 16
4960-3 | No.17 | 14.70 2X  14.70 29.40 [1.00X  14.70 14.70 [1.00 X 14.70 | 14.70
No. 17
4960-1 | No.18 | 20.00 2% 20.00 40.00 [1.00X  20.00 20.00 [1.00 X 20.00 | 20.00
No. 18
4960-1 | No.19 | 13.00 2X  13.00 26.00 [1.00X  13.00 13.00 [1.00 X 13.00 | 13.00
B 54. 80 109. 60 54.80 | W=1.0m (3#)) 54. 80
XE#REIRT
B fE15em  HE X5 (BEEh) m
SR fE15em P SCF (30) m
B TE45ecm H&, 52 11 m
FEHR iE45cm A€ TR m
B TE15cm A e m
AR IE15cm  FEfA ENEL m




[ #hi8h ] ZN T S b O .

(AREHEET)
BEREE= 3.45 m~ | 345 |m
SHEEFRR] = — R THIEHS  5-10-10
oA a G 35 ) W T B T £ B T
Y ] t = 0.05m FJE t=0.12m t=  0.05m
B i
# [ g
4, B L= X f m A=l HIl g X Ik m” A= (HHHINE + 22805 ) XIER m*
m
No. 2
4960-3 [No. 16| 7. 10 (1.00 +1.20 + 0.60 ) X 7.10| 19.9
No. 16
4960-3 [ No. 17| 14. 70 (1.00 +1.20 + 0.60 ) X 14.70] 41.2
No. 17
4960-1 [ No. 18] 20.00 (1.00 +1.20 + 0.60 ) X 20.00] 56.0
No. 18
4960-1 [ No. 19] 13.00 (1.00 +1.20 + 0.60 ) X 13.00] 36.4
2 54. 80 W=2.8m (F#)) 153.5
AR Bt
B 2 R A e T As=5-10-10  153.5 = 153.5 m2
TR T A + B %)  As—3 54. 80+ 4.40 = 59.2 m2
As-5-10-10  153.5 X 0.05 = 7.7 m’
SRR T (RGBT E) X 0. 03 m’

(R A%EAs—3 59.2  X0.03 = 1.8 m’




W
=

[ Ay ] 1 B #l ST ~ vk — L B E T

X - a7V —h HEE

B | v om o WA gl | )P (em) 1L
L L — —_— — —1 i X o BE AL gy | 2] % | P

i i;é Zg B8 e | B 2 e | & [P E[0)] O e HE s
& (1 I (-1 R I EIF K 152l 60[ 90| 120] 150] 150 30] 60 90| 120] s50f 150 ) 30] 45| 60| 5 | 10 15 il 2

4 m) |FE|ww| @) e ) (m) || wm] @] (mm) LS @] @] e

1960-3 No.16{1.850 [vu]200] 0.520 |vil200] T1.162°] 0.642 | 1150 101 | | 1] | 1] 1] | 1] | | 1] | 1]o.5]

vu(150] 1.446 1
4960-3|No.17{2.277 |vu|200] 1.383 [vu]200[ 1.411 | 0.028 [ 1 8711l I I 1111 1 1] ] |1] | | J1] 1]1.5] 1
vul150| 3.752 1

4960-1{ No.19]2.159 [vu|200] 3.251 ROT366] 808 [ owgs T sl 1ol o] p oy pl ppp g oy | agos)

150
= 200

wW Do




G 0 B Ml v~ &K — LV HE T

Ft% )\ )\ (}Iili H:Il ,/_«E,? (}jlf )\ ,A:é:, Bﬁalj /;EI,'S—, gu 377U*F§B$ﬁ(cm) ‘;”: ig ;;{:_
y 5w @ e | &
L L == —T= —— 1 ¥ | K H RE PN E o B I
S I IRl e o 2 12 ot 1 2 0 B | | i T
= (e B e h A= L AL | 60] 90] 120] 150 180] 30] 60| 90] 120] 150 IR 30[45] |5]10f15 il fi]
g m) |FE[em| m) o] @) | @) |w]|ow]dmfeomn iR ] ]
4960-1| No,18{2.249 |vu|200] 2.491 [vuf200] 2.588 ] 0.097 | 1 soltf 1Ll L] | 1] | | 1] 1]1.5] 1




: || A& 2 =
[ ##iBh ] B & R oE L (NEIE)
496034 No.16MH ¢ 150 h=0.642 No.1
T i Pl B = F
1
WEIEET (R LEAT) ¢ 200X 150 1
1
HER D KT ) ¢ 200/ 1
1
BIE R A7 — ¢ 150 1
m
FL—r U NEE ¢ 150 0.642-0.30-0.17 0.17
1
R FA90° HhAg ¢ 150 1
B sow SUSHY ¢ 1504 1A
2
T =R Sus# &l
4
BIE R E L ¢ 100 #E{LE = L& & AT

1.0m>h




: || A& 2 =
[ ##iBh ] Bl & % E L (NEIE)
4960-1 4% No.19MH ¢ 150 h=0.951 No.2
T flt Pl = F
1
WEIEET (R LEAT) ¢ 200X 150 1
fRbR 0 & FBAIEAFX)
1
1
BIE R A7 — ¢ 150 1
m
FL—r U NEE ¢ 150 0.951-0.30-0.17 0.48
1
R FA90° HhAg ¢ 150 1
BuftiF SR SUSHL ¢ 150 1
2
T =R Sus# 1
4
(EB0

¢ 150 ke =L
1.0m>h




wr | A
R E R R
ik AP homadep| OB GE D ¢ 200) BERE | 4 e | 4 S— .
. g s ) e | MR ERES | BRERR =
#hE | NILES ?;.é WAt FRA (meg|  wRS H=800 [H=1000 | H=1200 | H=1500 [ H=2000 | #7—HkF W | SN "
2 h' (m) [ (0 ¢200 (¢ 150) $200 | (BIEST) ¢ 200
4960-3 |No. 2~No. 16| 34 | =/ Exi#ERH3EAT] ¢ 150 1.75 1 1 1
4960-1 |No. 18~No. 19| 32 PAREE ¢ 150 0.83 1 1 1
49601 [ No. 18~No. 19| 31 A A e ¢ 150 1.11 1 1 1 1
1T 168FT 1 AT 3T 2 Pt 1 AT 1 AT




KN m o & T
EE%I#EE:mNm
BiEEFER= —MkTEES 5-10-10 T TPERIE R CR) = m
+ THERRIER(fE) = m JRIEIE= | 0.55 m ¢ 150mm
T /N I a b c axXbXc % | S S M
WA oE R | | w [ ||’ T S
fi E | @ + JZ—S il A1l 7 OH E R o | s [ RO R #0
Bl T | w | e o I i
P Al wm x m = N E] m m m m m 2 90° |60° A B Bl
4960-3
No.2
~ |& 0.05 | 1.20 | 0.79
No.16 1 1 X 335|335 |1.59 020 | 1.15 | 0.78] (3.35 - 0.50 )X 1| 2.85 2.2 1l 2.6
4960-3
No.16
No.17
4960-1
No.17
No.18
4960-1
No.18
~ & 0.05 | 1.38 | 0.83
No.19 2 2 X 335|670 ]1.95 ] 020 | 1.33 | 0.82] (3.35 - 050 )X 2| 5.70 5.2 2 2| 5.1 2
o m| r
i 3 10.05 8.55 74] 2 3 17713 1
m 1(E]
[ Xy oy 7 -
. &
L= 10.05 10.05 ALEZT AN ZITEE = §m/4.0 2
j:@ /\‘\7773: m‘ﬂjﬁ A+ m’
0.13m° [v= 7.4 7.4 74— (0.58X 0.25 X8.55) 6.2
" m’| | WHR (058 X 0.25- 0.15 2 X x/4 m’
il NI R woatps X 8.55 1.1
% L -y
7.4 - (6.2 /0.9)= 0.51 0.5




[ A8 ] B A L

HEPERIE R ()= 1.00 m
EEERER = —TIEES 5-10-10 (R Eli4E3-12-10) SAEPERIER (E)= 1.00 m jERIEE = 3.45 m~ 3.45 m
TR | sz | omom T AT A T
Py
wo el e JZ; t=0.05m T/E t=0.10m t=0.05m t=0.03m
T | e R — e < i FEt=0.12m
£ m [F] X mf m [m XEHIE] m° [GR & E+5% 2 E)Xmn] m FEHIE X m
4960-3
No.2
~ i 0.05
No.16 1 0.20 2 X 1.85 3.70 1.85 X 0.78 1.4 AETE L 0.78 X 1.85
4960-3
No.16
No.17
4960-1
No.17
No.18
4960-1
No.18
~ i 0.05
No.19 2 0.20 2 X 3.70 7.40 3.70 X 0.82 3.0 AETE L 0.82 X 3.70
=
JNEE
/et 3 11.1 4.4
i 3 11.10 4.4
m
i X 0.05
m
SIS T yis X 0.05
m




o

# B

B&Fr

REGFEE . 4965-b , 4965-c , 4965-¢’



S S Py v =
[ A8t ] wHoe % % i & T B
AT
F o= mm
HEERER=  —fRITEE 5-10-10 EHsIEE = 3.15] m~ [6.50 |m
SREEREEE 3-10 PR HIEERE = [BH 0.28
i A A . TR T
A i - e & ek | o e ) = S
N ke TN R TR e it bl g R )
e | N I T T R O T i it b e IVl R B
R i o B cm | cmig xklz /f;z: PEF | [oon
L = I I I HE R 1=3.0
5 BH BH BH BH BH [(SRA)| (PE)
% &2 m m m m m m m” m m” m m” m m 1@
No.0 0.45 0.05 | 2.48
4965-c | No.1 | 65.60] 0.45 | 64.70 | 0.20 | 2.53 | 1.00 | 162.69 122.28]  6.47] 18.05 2] 1L=3.0
No.1 0.45 0.05 | 1.84
4965-c’ | No.2 3.80 | 0.45 2.90[ 0.20 | 1.89 | 1.00 6.99 4.65] 029 0.81 2] L=25
No.2 0.45 0.05 | 1.79
4965-b | No.3 | 11.80 [ 0.40 | 1095 0.20 | 1.84 | 1.00 | 21.12 13.85] 1.10] 3.06 2] L=25
No.3 0.40 0.05 | 1.87
4965-b | No.4 6.00 [ 0.40 520 0.20 | 1.92 | 1.00 | 11.22 752 0.52 1.45 2] L=25
No.4 0.40 0.05 | 1.92
4965-b | +14.4 | 14.40 14.00 | 0.20 | 1.97 | 1.00 | 27.65 18.78]  1.40f  3.91 1| 1=25
+14.4 0.03 | 2.02
4965-b | +63.4 | 49.00 49.00 | 0.10 | 2.05 | 1.00 | 98.98 73.70]  4.90| 13.67 1=2.5
+63.4 0.05 | 2.07
4965-b | No.5 3.60 | 0.45 3.15[ 0.20 | 2.12 | 1.00 7.45 523  0.32]  0.88 1| 1=25
&3 | 154.20 149.90 336.10 246.01 | 15.00 | 41.83 [148.00 1.9 | 10.00
JL—rxTURNEE = 1.90 m
EFN - RN AN 148.00 —+4m/ A= RYAV:N
A | AWz eo0aEmE 1° 1/4 e
I 15° i
I 22° 1/2 1
m |4 H AR e i At
% BRI 1 BH0.28 V= 336.10 336.10q
m°|V1=1.00X0.10=0.100
FEA AR HI T V2=1.00X0.316- 7 /4 X 0.2162=0.279
m3
i AT
j: m3 m3
it YV= _ 336.1 =336.10
m3
i) BE+ BH0.28 U= 246.01 246.01 m
o’ H 4 B = 0.216
EIE10cmiZb RS = 0.316
% Floem & TH10cmiZ m’| B Floemib mE = 0.100
= Y ELHRE BH0.28 V= 15.00 +41.83 = 56.83 56.83 WA mx = 0.416
I
%+ o
336.10 —  246.01 / 09 = 62.76 62.76




e & & Mk Ly » L

WEKIEE=| 3.15| m~ 6.50 |m
L HI#TE = | BH 0.28
Bl | r | BERSIRK ETARL (W= 250mm) HECTARS LR T R AR KR T
11 il ¥
%7% ﬁfﬁ }E m m m m m
Fs % 272 L-2.00 | L-2.50 | L-3.00 | L-3.50 | L—4.00 | L-2.00 | L-2.50 | L-3.00 | 1B% 28 3%
Z‘ % m m m m m m m m m m m m m
No.0
4965-c | No.l | 65.60 | 2.53 65.60 65.60
No.1
4965-c’ | No.2 | 3.80 1.89 3.80 3.80
No.2
4965-b | No.3 | 11.80 1.84 11.80 11.80
No.3
4965-b | No.4 | 6.00 1.92 6.00 6.00
No.4
4965-b | +14.4 14.40 1.97 14.40 14.40
+14.4
4965-b | +63.4 | 49.00 | 2.05 49.00 49.00
+63.4
4965-b | No.5 | 3.60 2.12 3.60 3.60
z 154.20 88.60 |  65.60 36.00 | 118.20
BEEeREIk L
1B RRT = 36.00 m
2B SR T = 118.20 m

RIE SN m




: Yaran =N SH
[ 8 ] /N B il X ~F T T
(R 1)
EEEE= 3.15 m~ | 6.50 |m
SRR = —RTEE, 5-10-10 ({RAH%E3-12-10)
B A A % )W T B T (AT
@ ;T:E t = 0.05m @ t= 0.12m t= 0.03m| g
& E ) )
P = L= F Xt m A=l HIl b X IE m* A=FEHIIE X IE £ m*
m
No. 0
4965-c | No.1 | 65.60 2X 65.60 | 131.20 [1.00X 65.60 65.60 | 1.00 X 65.60 | 65.60
No. 1
4965-c” | No.2 3. 80 2% 3.80 7.60 |1.00X  3.80 3.80 |1.00 X 3.80 | 3.80
No. 2
4965-b | No.3 | 11.80 2% 11.80 23.60 |1.00X  11.80 11.80 [1.00 X 11.80 | 11.80
No. 3
4965-b | No. 4 6. 00 2% 6.00 12.00 [1.00X  6.00 6.00 [1.00 X 6.00 | 6.00
No. 4
4965-b | +14.4 | 14.40 2% 14.40 28.80 |1.00X  14.40 14.40 [1.00 X 14.40 | 14. 40
+14. 4 3-10
4965-b | +63.4 | 49.00 BIAKET &
+63. 4
4965-b | No.5 3. 60 2% 3.60 7.20 |1.00X  3.60 3.60 |1.00 X 3.60 | 3.60
Eis 154. 20 210. 40 105. 20 105. 20
X R 1E (H T
SRR M&15cm  Hf % (BEFEh) m
FEHR f§15em A T (30) m
SRR TE45cm H& {5 m
EHR P§45cm  H@ FEW R \ m
e 0) lE15cm  HE& s O m
eS0T TE15cm A ENEl m




[ 80 ] Z N O T S D A

(AREHEET)
HEEIEE= 3.15 m~ 650 m
EfAERR R = — i EE 5-10-10
O O N B T % B T
@ Eil t = 0.05m g t=0.12m t= 0.05m
= it
E —_— —_— —_—
4, B L= F Xt m A=TR HIE X JE R m* A= (HHHINE + 2805 ) XIER m”
m
No. 0
4965—c | No. 1 | 65.60 1X 65.60 | 65.60 (1.00 +1.00 + 0.20 ) X 65.60| 144.3
No. 1
4965—c’ | No.2 | 3.80 I1X 3.80 3. 80 (1.00 +0.75 + 0.20 ) X 3.80 7.4
No. 2
4965-b | No. 3 | 11.80 1X 11.80 | 11.80 (1.00 +0.75 + 0.20 ) X 11.80] 23.0
No. 3
4965-b | No.4 | 6.00 IX  6.00 6. 00 (1.00 +0.75 + 0.20 ) X 6.00| 11.7
No. 4
4965-b | +14. 4| 14. 40 1X  14.40 | 14.40 (1.00 +0.75 +0.20 ) X 14.40| 28.1
+14. 4
4965-b | +63. 4
+63. 4
4965-b | No.5 | 3.60 I1X  3.60 3. 60 (1.00 +0.75 + 0.20 ) X 3.60 7.0
it 105. 20 105. 20 W=2.1m (F#) 221.5
AAEER Jiyghpal
B 4 R I - T As-5-10-10 221, 5+ = 221.5 m2
(AR AP T R %) As—3 105. 2+ = 105.2 m2
As=5-10-10  221.5 X 0.05 = 11.1 m
ALY T (RGBT X 0. 03 m’

fihi%EAs—3 105.2  X0.03 = 3.2 m




> Yor = HE
[ w8 ] K i il 54 £t e T
(IREREET)
ERIEE= 3.15 m~ | 6.50 m
SEAETRY = AEEEEH  3-10  ((RAH%E3-10)
# A A G )W T B T (T
@ ;T:E t = 0.05m L@ 1= t = 0.03m | fuge
S E . )
P B L= B X IR m A=HEHINE X B m* A={RHINE X ZE K m*
m
No. 0 5-10-10
4965-c | No.1 | 65.60 B -
No. 1 5-10-10
4965-c” | No. 2 3.80 B -
No. 2 5-10-10
4965-b | No.3 | 11.80 B -
No. 3 5-10-10
4965-b | No.4 | 6.00 B -
No. 4 5-10-10
4965-b | +14.4 | 14.40 B -
T14. 4
4965-b | +63.4 | 49.00 2% 49.00 | 98.00 |1.00X 49.00 | 49.00 [1.00 X 49.00 | 49.00
763. 4 5-10-10
4965-b | No.5 3. 60 B -
2t 154. 20 98. 00 49. 00 49. 00
X8 (H T
S M&15ecm  Hf % (IBEFEh) m
FEHR f§15em B CF (30) m
S ME45cm  Hf {1k m
LR ME45cm [ AEETRR m
S fE15em  HAE e O m
e TE15cm T ENED m




; o =/ SH
[ e | N B il X + i T
(AEHEET)
E R B = 315, m~ | 6.50 m
Sl LR I = HREEIERS 310
BolA 0| memww T B T £ B T
1 L TR t=0.10m
p Eil t = 0.03m FE 1= t =
b i
L
4, 5 L= ¥l X it & m A= I hE X ZE m’ A= (JEHINE + 52808 ) XIER m’
m
No. 0
4965—c | No. 1
No. 1
4965’ | No. 2
No. 2
4965-b | No. 3
No. 3
4965-b | No. 4
No. 4
4965-b | +14. 4
14, 4
4965-b | +63. 4| 49. 00 (1.00 +0.75 + 0.75 ) x 49.00| 122.5
763, 4
4965-b | No. 5
2 49. 00 W=2.5m (3E#) 122.5
AR H o #6
Bl R A T As—3-10 122. 50 = 122.5 m’
RS R T R + %) As—3-10 49. 00 = 49.0 m’
As—3-10 X 0. 05 m’
BRSEARALLY T (RS + ) 122.5 X0.03 = 3.7 m
{2 AAs -3 49.0 X0.03 = 1.5 m’
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)
&
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[S—
ao

FH N~ s — L E L

& E &
73 . A — A al | @ a7V —RE# (cm) " i(i g
' 5 N3 oy | B = | P
(O O OO 2 i o =2 2 s - 71 71 L L O I B e Y A
N I P ] R P ] I b P R dHE
Ez3 + + - + fift | 60[ 90| 120] 150] 150] 30] 60{ 90| 120 150 0N 30] 45 60| 5 | 10] 15— E
4 (m) & [@m] M) |E|@w|  (m) (m)  fam] m)] gf (mm) LR 4] 69| e
vu[200] 0,109 0.050 | 1
4965-c| No.1 [2.201 |vu]200] 0.059 [vu[200] 0.4687] 0.409 [ 1 NI EEEN RN [1] | | |1] 1]o.5] 1
vu[200]0.4997] 0,090 | 1
4965-’| No.2 [1.771 |vu]200| 0.479 [vu[200] 0.5727]70.093[ 1 sif1] | 1] | L1111 | |1] | |1] 1]1.0]
vul200] 1673 | 0.807 | 1
4965-b| No.5 [2.014 [vu|200| 0.866 [Vi[366]0.916"|"0.050""T 241 1) | ] | [ 1| || | |1] [ 1] | 1]t.0] 1
4965-c| No.0 | BE&% [vul200]-0.158 [vi]200]=0.1387] 0.020 | 1 | | 11 L1111 [ | | | | | |




C ), T Al E & B L CEEXAY)

4965’ #&#% No.IMH ¢ 250 h=0.409

I fE il B E 7

W e =& (VP) 250 0.409m m
0.409

TR =R Susid SRR EHEAEX LD i
4

BfiF R SUSHY SRR LD i
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UL A e | FEE e (o ee|a] T S |k
C 2 A OV (| ) IO {1 IO O O O e <mm)Hﬁ60 e e 7 A e e s e
4965-b| No.3 [1.783 [vul200] 0.607 [vi[200] 0.6277] 0.020 | 1 4311] | [1] | [ 1] 1] | |1] | |1] 1]1.5] | 1
4965-b| No.4 [1.865 [vul200] 0.645 [vi[200] 0.665 | 0.02 |1 2501 | | 1] [ 1] 1] [ 1] | [ 1] | 1]1.0] | 1
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BREEES - 4966 , 4970-2



S S Py v =
Eiia wHoe % % fi % L C
HORe= 200 [mm
HEERER=  —fRITEE 5-10-10 EHsIEE = 5.05] m~ [6.10]m
SRHIBEFE = |BH 0.28
B A Mok il
)\ ,_E& oy ‘TFE ‘TFE " )N |l Hloa=z |l L R ﬂ‘
w | B || | A e iy | T | £ |
P i St Fill Fill BOHRL (MR w | = | s oMk 1L=2.0
B . jigiie cm | emiZ | X E | v )
sE | W E, w | s | PET L=25
L = g7 % | @\ HE R 1.=3.0
. 5 BH BH BH BH BH | (SRA)| (PE) '
% & m m m m m m m” m m” m m” m m 1@
No.5 0.45 0.05 | 1.28 [ 0.86
4966 | No.6 4.00 | 0.40 3.15[ 0.20 | 1.33 | 0.60 3.74 2.065] 0.19] 0.53 i
No.6 0.40 0.05 | 1.28 [ 0.86
4966 | No.7 | 22.50] 0.40 | 21.70 | 0.20 | 1.33 | 0.60 | 21.02 11.53 1.32]  3.67 2| FEiEv
No.7 0.40 0.05 | 1.43 [ 0.89
4966 | No.8 | 15.50 | 0.40 | 14.70] 0.20 | 1.48 | 0.60 | 16.51 9.93] 0.90] 2.8 i)
No.8 0.40 0.05 | 1.28 [ 0.86
4966 | No.9 | 30.00] 0.40 | 29.20| 0.20 | 1.33 | 0.60 | 28.03 15.38 1.78]  4.93 )
No.9 0.40 0.05 | 1.65
4966 | No.10| 32.30| 0.45 | 31.45) 0.20 | 1.70 | 1.00 | 53.30 33.40] 3.15] 8.77 2] L=2.0
No.10 0.45 0.05 | 1.62
4970-2 | No.11| 15.00 [ 0.45 | 14.10] 0.20 | 1.67 | 1.00 | 24.30 15.06 1.41 3.93 2] L=2.0
&3 ] 119.30 114.30 146.90 87.35 | 8.75| 24.31|112.00 | 2.30] 12.00
JL—rxURNEE = 2.30 m
EFN - RN AN 112.00 =+4m/ A= 28 A
A | AWz eo0aEmE 1° 1/4 e
I 15° i
I 22° 1/2 1
m |4 H AR e i At
% FEkkyEEI T | BH 0.280m3 |V 146.90 146.90
m®[V1=1.00%0.10=0.100
FEA AR HI 1 V2=1.00%0.316- 7z /4 X 0.21672=0.279
m®[V1=0.61%0.10=0.061
] AR I T . |V2=0-65%0.316- 7 /4 0.21672=0.169
j: m m
it YV= 146.9 =146.90
m3
i) BE+ BH 0.280m3 U 87.35 87.35 m
o’ H 4 B = 0.216
EIE10cmiZb RS = 0.316
% Floem & TH10cmiZ m’| B Floemib mE = 0.100
= Y ELHRE BH 0.280m3 |V 8.75 +24.31 = 33.06 33.06 W mx = 0.416
I
%+ o
146.90 —  87.35 / 09 = 49.84 49.84




[ i8] e & % & 8o T

EEIFEE=| 5.05| m~ | 6.10 |m
PRHEIAEFE= | BH 0.28
BolAM L | r | BRI ETARL (W= 250mm) ARG 1R T R AR KR T
11 L %
% B }E m m m m m
Ei3 Eg Eg L-2.00 | L-2.50 | L-3.00 | L-3.50 | L-4.00 | L-2.00 | L-2.50 | L-3.00 | 1B% 28% 3B
Z‘ 7%" m m m m m m m m m m m m m
No.b
4966 | No.6 | 4.00 1.33
No.6
4966 | No.7 | 22.50 | 1.33
No.7
4966 | No.8 | 15.50 | 1.48
No.8
4966 | No.9 | 30.00 | 1.33
No.9
4966 | No.10| 32.30 | 1.70 | 32.30 32.30
No.10
4970-2 | No.11| 15.00 | 1.67 | 15.00 15.00
2 119.30 47.30 47.30

RESER T
LEESfR T = 47.30 m
2B TR T = m

RIE SN m




- Yorin =/u -
[ W ] 7N B il X ~F o T
(i 1)
EEWEE= 505 m~ | 6.10/m
AEEAER = — W TIE SR 5-10-10  (fdfizts3-12-10)
B A A § % )W T W T (AT
i N FfE t= 0.10m
@ ;F:j’g t = 0.05m FE t= 0.12m t = 0.03m e
& E ) )
4, B L= JIXEE m A=Y HIE X 4R m’ A=YEHIE X T & m’
m
No. 5
4966 No. 6 4. 00 2% 4.00 8.00 [0.87X  4.00 3.48 [0.87 X 4.00 3. 48
No. 6
4966 No.7 | 22.50 2X  22.50 45.00 [0.87X  22.50 19.58 [0.87 X 22.50 | 19.58
No. 7
4966 No.8 | 15.50 2X  15.50 31.00 |0.90X  15.50 13.95 [0.90 X 15.50 | 13.95
No. 8
4966 No.9 | 30.00 2% 30.00 60.00 [0.87X  30.00 26.10 [0.87 X 30.00 | 26.10
No. 9
4966 No. 10 | 32.30 2X  32.30 64.60 [1.00X  32.30 32.30 [1.00 X 32.30 | 32.30
No. 10
4970-2 | No.11 | 15.00 2X  15.00 30.00 |1.00X  15.00 15.00 [1.00 X 15.00 | 15.00
= 119. 30 238. 60 110. 41 110. 41
XE#RE IR T
FEHR fE15em  HE X5 (EEh) m
SR fE15em P SCF (30) m
FEHR TE45ecm H& 52 11 m
FEHR iE45cm A€ R m
B ME15cm A e m
g fE15cm o JREf) m




: Yaran = SH
[ #i8h ] AN B il X ~F T T
(AREHEET)
EKEE = 5.05 m~  6.10 m
SHEEFRR] = —HETHIEES  5-10-10
BN A | mrww T | T £ F T
@ ] t = 0.05m FJE t=0.12m =  0.05m
= ik
E —_ —_— —_—
4, B L= 3l X iEf m A=l HIl g X Ik m’ A= (HHHINE + 22805 ) XIER m*
m
No. 5
4966 | No.6 | 4.00 1X  4.00 4. 00 (0.87 +0.75 + 0.20 ) X 4.00 7.3
No. 6
4966 | No.7 | 22.50 1X 22.50 | 22.50 (0.87 +0.75 + 0.20 ) 22.50] 41.0
No. 7
4966 | No.8 | 15.50 1X 15.50 | 15.50 (0.90 +0.75 + 0.20 ) 15.50| 28.7
No. 8
4966 | No.9 | 30.00 2X 30.00 | 60.00 (0.87 +0.20X 2 ) 30.00] 38.1
No. 9
4966 |No. 10| 32.30 2X  32.30 | 64.60 (1.00 +0.20X 2 ) 32.30| 45.2
No. 10
4970-2 | No. 11| 15. 00 2X 15.00 | 30.00 (1.00 +0.20X 2 ) 15.00] 21.0
i 119. 30 196. 60 W=1.5m (F#) 181.3
ARG Bt
B 2 R e T As-5-10-10 181, 3+ 14.9 = 196.2 m2
(RS T R+ e) As—3 110. 4+ 9.7 = 120. 1 m2
As=5-10-10  196.2 X 0.05 = 9.8 m’
SRR T (AR VU ) X 0. 03 m’
fZaiAs—3  120.1 X0.03 = 3.6 m’




[ #hBh ] 1 5 3~ v & — V&R EBL

L N BN BT oA | 270 M (em) 15?}
wl k| B || 2 | % ?EE?E?R m i r’%& Mwi
4 7 (m) |F (vj) (m) &03 (m) (/rg) @8 (yi @8 (mm)Hﬁ60 b I % o MO;;;BO EREEE <m> (;5) (i

4966 | No.10{1.963 [vul200] 5.207 [vul200] 5.962 [ 0.755 | 11150 7301 || 1] | | | |1 1] | | J1f 1]1.5]

4970-2{No.11{1.903 |vu|200[6.307 [vu[150]7.057 [°0.750 | 11100 1311 | | ]1] | | | |1 [1] | | J1f 1]o.5]

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

150] 1
i 200f 1 2l 11201 1] L1 LTl | 1] 12]2]20]
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[ gy ] 0 5 s~~~ & — L FE LT

Bloo| o | mmw N al | 2o 7) — N (om) .
@ % (}ZFE %%%Eﬁ%%%}ﬁeﬁ = ﬁU%ﬁU%E LIS N HOBE RABE ||
= & FE 7= AL BT ] ‘ anl ‘ A 2

4 7 @ o] @[] @ (m) ] @ o] @mm) LR 90 1 e o[ ]re anf @) ¢

4966 | No.6 [1.235 [vu[200] 1.785 [vu]200] 1.805 [ 0.020 1 95{1]1] | | | | | | |1 | 1] | 1] 1]1.5]

4966 | No.7 [1.228 [vul200] 2.772 [vul200] 2.7927[70.020 |1 sgl1f1] | | | | | | |1 | ]1] | |1 1]1.5]

4966 | No.8 |1.529 [vu[200| 3.071 [vi{%66[ 5592 078211 891tf 1 ||| ] ] L] L gesl

4966 | No.9 [1.228 [vul200] 4.412 [vul200] 4.4327[70.020 |1 88l1f1] | | | | | | |1 | ]1] | |1 1]1.5]

LIl 1] I I O I

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

LI 1] N A 1 O

LI L] 1] N A I O

i 4 [ 1 []] L1 L LT 14 1] [4]4]6.0]




: || A& 2 =
[ ##iBh ] B & R oE L (NEIE)
4966 #% No.SMH ¢ 150 h=0.807 No.1
T flt Pl = F
1
WEIEET (R LEAT) ¢ 200X 150 1
fRbR 0 & FBAIEAFX)
1
1
BIE R A7 — ¢ 150 1
m
FL—r U NEE ¢ 150 0.807-0.30-0.17 0.34
1
R FA90° HhAg ¢ 150 1
o s EavaN SUSHY ¢ 1504 1A
2
T =R Sus# 1
4
BIE R E L o 150 #E{LE = L& & AT

1.0m>h




: | & 2 =
[ ##iBh ] Bl & % E L (NEIE)
4970-28#1 No.10OMH ¢ 150 h=0.755 No.2
T i Pl B = F
1
WEIEET (R LEAT) ¢ 200X 150 1
[
RO (K TRAIEATE) ¢ 2008 1
[
BIE R A7 — ¢ 150 1
m
FL—r U NEE ¢ 150 0.755-0.30-0.17 0.29
i
R FA90° HhAg ¢ 150 1
BATT SR SUSHL ¢ 150 1
2
T LA =R Sus# 1
4
BIE R E L ¢ 100 #E{LE = L& & AT

1.0m>h




wOE L (FEAAT)

‘ gl B
[ 8 ]
49664 No.8MH ¢ 250 h=0.321
T f& Pl B = B
BB e =L (VP) ¢ 250 0.321m m
0.32
T A=A SusHL SRR FHEAER LY &l
4
BfHiF R SusHd SRR AR AER LY &l




NIRRT R

Tt ONEERE [ mrasp] N ORASERE GE N ¢ 200) BAEHE | o o | eprpiagas | py 2
i | ANLES | | R4 | nitar| RS H=800 [H=1000 | H=1200 | H=1500 [ H=2000| #7-fk=F | - A -
5 h ()  [(Zn o200 (¢150) | ¢200 | (BEEET) | ¢ 200

4966 | No.8~No. 9] 15 - BRI $ 150 0. 90 1 1 1
4966 _[No. 8~No. 9| 16 PN ¢ 150 0.85 1 1 1
4966 | No.8~No. 9] 17 BRI $ 150 0. 90 1 1 1
4966 |No.9~No. 10| 12 | BEFHASME | ¢ 150 1.27 1 1 1
4966 _|No. 9~No. 10| 13 IR 6 150 1.22 1 1 1
4966_[No. 9~No. 10| 14 EEER=GIN ¢ 150 0.80 1 1 1




= Yax’
[ e ] B & L
JE IR E = 5.05 | m~ m
SRR = —MXTEE 5-10-10 T TPERIER(R) = m
T TR R ()= m FEHRiE= | 0.55/m ¢ 150mm
%ok B 7N ps a b c axXbXc % | S |S M
WA EE R || N ||’ T e
M| EE + ? Hi Hil e T R m | s | RIR it 1
w | " | | + i i w
% & e xm= [0 # m m m m m m 90° [60° | A | B W]
4966
No.5
No.6
4966
No.6
No.7
4966
No.7
No.8
4966 |4 0.05 | 0.91 [ 0.73
No.8 1 1 x 315|315 [1.01 | 0.20 | 0.86 | 0.72] (3.15 - 0.43 )X 1| 2.72 1.5 i 1| 241 1
~ |k 0.05 | 0.91 | 0.73
No.9 2 2 x 3.90] 7.80 [1.01 [ 0.20 | 0.86 | 0.72] (3.90 - 0.43 )x 2| 6.94 3.8 2| 2] 62| 2
4966 |4 0.05 | 1.09 | 0.77
No.9 1 1 x 315|315 [1.38 ] 0.20 | 1.04 | 0.76 | (3.15 - 0.50 )X 1| 2.65 1.8 i 1| 241 1
~ |k 0.05 | 1.09 | 0.77
No.10 2 2 x 3.90] 7.80 [1.38 | 0.20 | 1.04 | 0.76] (3.90 - 0.50 )x 2| 6.80 4.6 2| 2] 62| 2
4970-2
No.10
No.11
s m| # r
i 6 21.90 19.11 11.7] 6 6 [172] 6
m 1
i Xy oy 7 -
JIER. = x
L= 21.90 21.90 DA O ZTEE = §Fm/4.0 5
*E /\)‘VNK? m’| #*A+ m
0.13m’° [v= 11.7 11.7 11.7-  (0.58X 0.25 X19.11) 8.9
W m’| | WL (0.58 X 0.25- 0.15 2 X =/4 m
il M) JR| whstgs X 19.11 2.4
% L -
11.7 - (89 /0.9)= 1.81 1.8




: fv +H-
[ gy ] B+ %  &H T
ARt R(A)= 1.00 ' m
ERAERER = —fTEE 5-10-10 (IR EHE3-12-10) AT R ()= 1.00 m JEHKIFEA = 5.05 m~ 6.10 m
R % &5 S N N
B A | msowmr | o® T Ak T b T
Mt
Mo T B ? t=0.10m TIE t=0.10m t=0.05m t=0.03m
| TR S R S — R T FEt=0.12m
4 m [F X m| m [m XPEAIME ] m® [GRE E R+ E) X m PEHE X m m
4966
No.5
No.6
4966
No.6
No.7
4966
No.7
No.8
4966 |4 0.05
No.8 1 020] 4 x 172 | 6.88 1.72 0.72 1.2 | 0.72 +0.20 X 2) X 1.72 1.9] 072 x 1.72 1.2
~ & 0.05
No.9 2 020] 4 x 494 [19.76 [ 4.94 0.72 3.6 | (0.72 +0.20 X 2) X 4.94 55| 0.72 X 4.94 3.6
4966 |4 0.05
No.9 1 020 4 X 165 | 6.60 1.65 0.76 1.3 | (0.76 +0.20 X 2) X 1.65 1.9] 0.76 X 1.65 1.3
~ & 0.05
No.10 2 020] 4 x 4.80 [19.20 [ 4.80 0.76 3.6 | (0.76 +0.20 X 2) X 4.80 5.6 0.76 X 4.80 3.6
4970-2
No.10
No.11
H
INER 2 13.5 2.5 3.8 2.5
s
s 4 39.0 7.2 11.1 7.2
i 6 52.44 9.7 14.9 9.7
m
H 3.8 X 0.05 0.19
m
BB T Vs 11.1 X 0.05 0.56
m
i 0.75




TITELZ: ZEFRLESKRFEKEFREZTIE (2—1 IK)

D E
. - wo BXET
T N * T AE wr =
i3 EX 0y HE - T 4968 100 55 B =
ERIER ¢ 150 16.20 36.46 5266 m 52.7
BFRIER " 15.35 35.61 5096 m 51.0
EH®RLTT HEH| 29.16 29.80 58.96 m3 59.0
BR (BET1) 21.63 16.88 3851 m3 39.0
HR (BEL) m3
BR (BE®) 3.75 488 8.63| m3 9.0
B - s 513 11.04 16.17 m3 16.0
LA BEEEEMHRT 15.35 35.61 5096 m 51.0
WERRY— T 15.35 35.61 5096 m 51.0
YUR- VAR & SMF ¢ 150 2 2 400 & 4.0
EEBT WEBEE (10cm) 1.54 1.99 3.53| m3 4.0
BERITET BEHEREAT (@EHA4) L=2.0m m
BEMRWEIRT (@EIH) m
BEMEIREAT (@A) L=2.5m 16.20 16.200 m 16.2
BEMRWEIRT (@EIH) 16.20 16.200 m 16.2
BEMRER 1 5 =
XRT 1TERFHRT 16.20 16.200 m 16.2
2B T m
T REMER FILZE =
MIT0EYUR- LT = T-14 1 1.00 # 1.0
%= T-2b6 1 1.00 # 1.0




ITEL:  ZRAMESREKERHRTIE 22— 1 IK)

E I R - TE &F B
LRI AESE 200 # 2.0
VBTN 1.00 £ 1.0
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